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TODAY 'S LECTURE :

-

- Zone graphs
↳
1 . More examples

2. formal definition

3- Properties

Zone graphs Heere introduced in the following paper :

Model - checking Of real - time reachability properties using abstractions

Davis & Tripathi's ,
TACAS

'

1998
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Continuing this exploration , we get nodes with all different

orderings of cloche .
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Zone
graphs :

formal definition :
- -

Let ✗ be a finite set of docks .

- A Lone is a set of valuations over R
' "
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symbolic transition :
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From the previous theorem
,

each of the intermediate sets
of valuations

is a Zone .



Lone graph : definition
- -
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q is a state of the automaton

2 is a Lone .
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An important property of the symbolic transitions : (Post property )- - - -
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Zone graphs are sound and complete :
- - - -
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Completeness :

-
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Zone graphs could be infinite :
- - - - -
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Our main goal is to solve the reachability problem .

We need an

Object that can detect all
"

reachable states " of the automaton .

QI. How do we get a finite
"

object
" that is sound and

complete for reachability ?

Nexti. A framework for solving this question .
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